
DANTE MEETS DCF: VALUATION 
SINS AND REDEMPTION

“It ain’t over till its over” Yogi Berra
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Back to the very beginning:
Approaches to Valuation

¨ Discounted Cashflow Valuation, where we try 
(sometimes desperately) to estimate the intrinsic 
value of an asset by using a mix of theory, guesswork 
and prayer.

¨ Relative valuation, where we pick a group of assets, 
attach the name “comparable” to them and tell a 
story.

¨ Contingent claim valuation, where we take the 
valuation that we did in the DCF valuation and divvy 
it up between the potential thieves (equity) and the 
victims of this crime (lenders)
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Dante meets DCF: Nine layers of valuation hell.. 
And a bonus layer..

Base year and accounitng fixaiton

Death and taxes

High growth for how long?

Whatʼs in your disocunt rate?

The terminal value: Itʼs not an ATM

Are you paying for growth?

Debt ratios change, donʼt they?

No garnishing allowed!!

From aggregate to per share value?

The Wasserstein-Perella bonus layer
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Layer 1: Base Year fixation….

¨ You are valuing Exxon Mobil, using the financial statements of 
the firm from 2008. The following provides the key numbers:
Revenues $477 billion
EBIT (1-t) $ 58 billion
Net Cap Ex $   3 billion
Chg WC $   1 billion
FCFF $ 54 billion

¨ The cost of capital for the firm is 8% and you use a very 
conservative stable growth rate of 2% to value the firm. The 
market cap for the firm is $373 billion and it has $ 10 billion in 
debt outstanding. 
a. How under or over valued is the equity in the firm?
b. Would you buy the stock based on this valuation? Why or why not? 

Base year and accounitng fixaiton

Death and taxes

High growth for how long?

Whatʼs in your disocunt rate?

The terminal value: Itʼs not an ATM

Are you paying for growth?

Debt ratios change, donʼt they?

No garnishing allowed!!

From aggregate to per share value?

The Wasserstein-Perella bonus layer
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Layer 2: Taxes and Value

¨ Assume that you have been asked to value a company and have been provided with the most 
recent year’s financial statements:

¨ EBITDA 140
¨ - DA 40
¨ EBIT 100
¨ Interest exp 20
¨ Taxable income 80
¨ Taxes 32
¨ Net Income 48
¨ Assume also that cash flows will be constant and that there is no growth in perpetuity. What is the 

free cash flow to the firm?
a. 88 million (Net income + Depreciation)
b. 108 million (EBIT – taxes + Depreciation)
c. 100 million (EBIT (1-tax rate)+ Depreciation)
d. 60 million (EBIT (1- tax rate))
e. 48 million (Net Income)
f. 68 million (EBIT – Taxes)

Free Cash flow to firm
EBIT (1- tax rate)
-(Cap Ex – Depreciation)
- Change in non-cash WC
=FCFF

Base year and accounitng fixaiton

Death and taxes

High growth for how long?

Whatʼs in your disocunt rate?

The terminal value: Itʼs not an ATM

Are you paying for growth?

Debt ratios change, donʼt they?

No garnishing allowed!!

From aggregate to per share value?

The Wasserstein-Perella bonus layer
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Layer 3: High Growth for how long…

¨ Assume that you are valuing a young, high growth 
firm with great potential, just after its initial public 
offering. How long would you set your high growth 
period?

¨ < 5 years
¨ 5 years
¨ 10 years
¨ >10 years

Base year and accounitng fixaiton

Death and taxes

High growth for how long?

Whatʼs in your disocunt rate?

The terminal value: Itʼs not an ATM

Are you paying for growth?

Debt ratios change, donʼt they?

No garnishing allowed!!

From aggregate to per share value?

The Wasserstein-Perella bonus layer
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Layer 4: The Cost of Capital

¨ The cost of capital for Chippewa Technologies, a US 
technology firm with 20% of its revenues from Brazil, has 
been computed using the following inputs:

Cost of equity = Riskfree Rate + Beta (ERP) + Small firm premium 
= 5% + 1.20 (5%) + 3% = 14%

Replaced current 
T.Bond rate of 3% 
with normalized 
rate of 5%

“Adjusted” 
Beta from 
Bloomberg

Both from Ibbotson data base, derived 
from 1926-2008 data
ERP: Stocks - T.Bonds (Arithmetic 
average)
Small firm: Smal stocks - Overall market

Cost of capital = Cost of equity (Equity/ (Debt + Equity)) + Cost of debt (1- tax rate) (Debt/ (Debt + Equity)
= 14% (1000/2000) + 3% (1-.30) (1000/2000) = 8.05%

From 
above

Used market value of 
equity

Company is not 
rated and has no 
bonds. Used 
book interest 
rate = Int exp/ BV 
of debt

Used 
effective tax 
rate of 30%

To be  conservative, 
counted all liabilities, 
other than equity, as 
debt and used book 
value.

Base year and accounitng fixaiton

Death and taxes

High growth for how long?

Whatʼs in your disocunt rate?

The terminal value: Itʼs not an ATM

Are you paying for growth?

Debt ratios change, donʼt they?

No garnishing allowed!!

From aggregate to per share value?

The Wasserstein-Perella bonus layer
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Some perspective on risk free rates

Aswath Damodaran
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The Equity Risk Premium: The ubiquitous 
historical risk premium

¨ The historical premium is the premium that stocks have historically 
earned over riskless securities.

¨ While the users of historical risk premiums act as if it is a fact (rather than 
an estimate), it is sensitive to 
¤ How far back you go in history…
¤ Whether you use T.bill rates or T.Bond rates
¤ Whether you use geometric or arithmetic averages.

¨ For instance, looking at the US:

Aswath Damodaran
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Arithmetic Average Geometric Average
Stocks - T. Bills Stocks - T. Bonds Stocks - T. Bills Stocks - T. Bonds

1928-2021 8.49% 6.71% 6.69% 5.13%
Std Error 2.05% 2.17%
1972-2021 8.04% 5.47% 6.70% 4.47%
Std Error 2.44% 2.76%
2012-2021 16.47% 14.39% 15.89% 14.00%
Std Error 3.88% 4.59%
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An Alternative Approach

Aswath Damodaran
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What small cap premium?
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Small Firm Premium over time- 1927 -2021

Small cap stocks have earned 0.33% LESS than expected 

The catch: Small cap stocks did 0.45% 
worse than the market, after adjusting 

Small cap stocks have earned 0.33% LESS than expected 

Byline: Small cap stocks did 6.56% better than
the market, after adjusting for risk between 1927 
and 1980.

Headline: Small cap stocks did 3.4% better than the market, 
after adjusting for risk between 1927 and 2021.
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Beta: Regression vs Bottom Up

Beta of Equity

Rj

Rm

Slope = Beta

Intercept - Rf (1-Beta) = Jensen!s Alpha

Top-Down Bottom-up

1. Identify businesses that firm is in.
2. Take weighted average of the
unlevered betas of other firms in the
business 
3. Compute the levered beta using the
firm!s current debt to equity ratio:

!l = !u [1 + (1-tax rate) (Debt/Equity)]

R2: 
Proportion of 
risk that is not 
diversifiable
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The Correct Cost of Capital for Chippewa
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Layer 5: The price of growth..

¨ You are looking at the projected cash flows provided 
by the management of the firm, for use in valuation 

¨ What questions would you raise about the 
forecasts? 

Base year and accounitng fixaiton

Death and taxes

High growth for how long?

Whatʼs in your disocunt rate?

The terminal value: Itʼs not an ATM

Are you paying for growth?

Debt ratios change, donʼt they?

No garnishing allowed!!

From aggregate to per share value?

The Wasserstein-Perella bonus layer
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Layer 6: The “fixed debt ratio” assumption

¨ You have been asked to value Hormel Foods, a firm 
which currently has the following cost of capital:
¤ Cost of capital = 7.31% (.9) + 2.36% (.1) = 6.8%

¨ You believe that the target debt ratio for this firm 
should be 30%. What will the cost of capital be at 
the target debt ratio?

¨ Which debt ratio (and cost of capital) should you use 
in valuing this company?

Base year and accounitng fixaiton

Death and taxes

High growth for how long?

Whatʼs in your disocunt rate?

The terminal value: Itʼs not an ATM

Are you paying for growth?

Debt ratios change, donʼt they?

No garnishing allowed!!

From aggregate to per share value?

The Wasserstein-Perella bonus layer
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Layer 7: The Terminal Value

¨ The best way to compute terminal value is to 
a. Use a stable growth model and assume cash flows grow at a fixed 

rate forever
b. Use a multiple of EBITDA or revenues in the terminal year
c. Use the estimated liquidation value of the assets
¨ You have been asked to value a business. The business expects to $ 

120 million in after-tax earnings (and cash flow) next year and to 
continue generating these earnings in perpetuity. The firm is all 
equity funded and the cost of equity is 10%; the riskfree rate is 3% 
and the ERP is 7%.  What is the value of the business?

¨ Assume now that you were told that the firm can grow earnings at 
2% a year forever. Estimate the value of the business.

Base year and accounitng fixaiton

Death and taxes

High growth for how long?

Whatʼs in your disocunt rate?

The terminal value: Itʼs not an ATM

Are you paying for growth?

Debt ratios change, donʼt they?

No garnishing allowed!!

From aggregate to per share value?

The Wasserstein-Perella bonus layer
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Layer 8. From firm value to equity value: The 
Garnishing Effect…

¨ For a firm with consolidated financial statements, you have 
discounted free cashflows to the firm at the cost of capital to arrive 
at a firm value of $ 100 million. The firm has
¤ A cash balance of $ 15 million
¤ Debt outstanding of $ 20 million
¤ A 5% holding in another company: the book value of this holding is $ 5 

million. (Market value of equity in this company is $ 200 million)
¤ Minority interests of $ 10 million on the balance sheet

¨ What is the value of equity in this firm?

¨ How would your answer change if you knew that the firm was the 
target of a lawsuit it is likely to win but where the potential payout 
could be $ 100 million if it loses?

Base year and accounitng fixaiton

Death and taxes

High growth for how long?

Whatʼs in your disocunt rate?

The terminal value: Itʼs not an ATM

Are you paying for growth?

Debt ratios change, donʼt they?

No garnishing allowed!!

From aggregate to per share value?

The Wasserstein-Perella bonus layer
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Layer 9. From equity value to equity value per 
share

¨ You have valued the equity in a firm at $ 200 million. 
Estimate the value of equity per share if there are 10 
million shares outstanding..

¨ How would your answer change if you were told that 
there are 2 million employee options outstanding, 
with a strike price of $ 20 a share and 5 years left to 
expiration?

Base year and accounitng fixaiton

Death and taxes

High growth for how long?

Whatʼs in your disocunt rate?

The terminal value: Itʼs not an ATM

Are you paying for growth?

Debt ratios change, donʼt they?

No garnishing allowed!!

From aggregate to per share value?

The Wasserstein-Perella bonus layer
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Layer 10. The final circle of hell…

 Cost of Equity Cost of Capital 

Kennecott Corp (Acquirer) 13.0% 10.5% 

Carborandum (Target) 16.5% 12.5% 

 

Base year and accounitng fixaiton

Death and taxes

High growth for how long?

Whatʼs in your disocunt rate?

The terminal value: Itʼs not an ATM

Are you paying for growth?

Debt ratios change, donʼt they?

No garnishing allowed!!

From aggregate to per share value?

The Wasserstein-Perella bonus layer
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Valuation is simple. We choose to make it 
complex!

Aswath Damodaran
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But here’s why valuation fails – The Bermuda 
Triangle of Valuation

Valuation First 
Principles &
Good SenseBias

 &
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s

Uncertainty & the Unknown

Complexity & Detail


